SHIFE BRE - BRHEREETE

HEDESE = 3 M HERODOHB SREXRTEH HERDIEH BiliEE
(%32) 10713 () 11,79 (X)

%1 ERE 175(R)~ 179 (&) (FH)12.-12(B) 12,0&) | BE

_ 2/, 25 (REA). 21,

(%£352)10/3(B) 10,719 ()

) %"‘ ~ ST . V(3 ~ . ~

%1 A& 8.72(R)~ 8./6(&) (=5 116 (8) 2 10%) ;1; 3N (EHRFA). 3B 58~9H
(%32)3.720(B) 4/ 5(K) 12 (0ik - EHEA) . 25

%2 EER 1AT(B) ~ 1./21(&) (Os)5. 8(H) 5,24 (k) 2%, 2L, 3L. 34, | 105~2H
(32$)8.728(R) 9713 (k) 3b. 3IZ. BE. EX

X ERHERBE. RESR. BEHRFEBRAEICFERTY.

SHEBEICELTIE, MBS,
% BRSRTHN HRHERT 200M, FHABR (1 HOA) 9,30 [HEe)

EHEER 14,000 A [I]R<)

FRFBR SRR ORBEARZRTF R MR

- 1 EIF8H%R10725(A) ~ 10729 (%)

X ORERRFHMZERT 200 £%2 450 A [URAH]
X FTOMFAGRIE, BEAREBDERFERES HERS

- E2EF8H%5730(A)~ 6.73(&)




